ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2025 AT 2:00 PM

CONTRACT ID: D13POC.BM.18991

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TO BE DETERMINED

COUNTY: MADISON

TIP NO.: VARIOUS

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS

TYPE OF WORK: BRIDGE CREW UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A BRIDGE MAINTENANCE PROJECT.

BID BOND IS NOT REQUIRED.

Atoah Contracting LLC

NAME OF BIDDER

116 Lower Mill Creek Drive, Robbinsville, NC 28771

Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request Madison

County:

Line No.	Sec	t Description	Qty	Unit	Unit Price	Amount Bid
1	SP	Be 11000 Fation Cicw	2000	HR	\$550	\$1,100,000
2	SP	Specialized Equipment, Mini Excavator (10,000 To 16,000 Lbs.)	600	HR	\$65	\$39,000
3	SP	Specialized Equipment, Small Excavator (16,001 To 26,000 Lbs.)	600	HR	\$75	\$45,000
4	SP	Specialized Equipment, Standard Excavator (26,001 To 40,000 Lbs.)	600	HR	\$85	\$51,000
5	SP	Specialized Equipment, Large Excavator (40,001 To 55,000 Lbs.)	600	HR	\$95	\$57,000
6	SP	Specialized Equipment, Skid Steer W/ Tracks	600	HR	\$50	\$30,000
7	SP	Specialized Equipment, 4x4 Rubber Tire Backhoe	600	HR	\$25	\$15,000
8	SP	Specialized Equipment, Trench Roller W/ Remote	600	HR	\$20	\$12,000
9	SP	Specialized Equipment, Dump Truck (18 Ton Min. Capacity)	600	HR	\$100	\$60,000
10	SP	Specialized Equipment, Hydra Platform	600	HR	\$200	\$120,000
11	SP	Specialized Equipment, Large Hydra Platform	600	HR	\$225	
12	SP	Specialized Equipment, Manlift	600	HR	\$55	\$135,000 \$33,000
13	SP	Specialized Equipment, Large Manlift	600	HR	\$70	\$42,000
14	SP	Specialized Equipment, Portable Concrete Pump	200	HR	\$250	\$50,000
15	SP	Specialized Equipment, Concrete Pump Truck	150	LID	\$325	\$48,750
16	SP	Certified Welder	1000	LID	\$75	\$75,000
17	SP	Dewatering, 2" Pump	1000	LID	\$10	\$10,000
18	SP	Dewatering, 4" Pump	1000		\$15	\$15,000
19	SP	Dewatering, 6" Pump	1000	LID	\$20	\$20,000
20	SP	Shoulder Closure	30	EA	\$250	\$7,500
21	SP	Ramp Closure	20		\$500	\$10,000

Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request

County:

Madison

TOTAL BID FOR PROJECT: \$2,078,310

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
22	SP	Multi-Lane Roadway, Lt or Rt Ln Closure (8 Hours or Less, 1 Mile or Less)	40	EA	\$1,200	\$48,000
23	SP	Multi-Lane Roadway, Rt Ln Closure Including Ramps And Loop (8 Hours or Less, 1 Mile or Less)	40	EA	\$1,200	\$48,000
24	SP	Work Zone Traffic Control, Each Additional Hour	40	EA	\$1	\$40
25	SP	Work Zone Traffic Control, Each Additional Mile	20	EA	\$1	\$20
26	SP	Work Zone Traffic Control, Reset Traffic Control	20	EA	\$250	\$5,000
27	SP	Flagger	2000	HR	\$1	\$2,000

Contractor: Atoah Contracting LLC						
Address: 116 Lower Mill Creek Drive,	Robbinsville, NC 28771					
Phone: 828-735-5366 Federal ID: 85-3034804						
Contractor License Number (If Available	:): <mark>N/A</mark>					
Authorized Agent: Logan Carver	Title: Owner					

Signature: __ Date: 2/26/2025

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2025 AT 2:00 PM

CONTRACT ID: D13POC.BM.18991

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TO BE DETERMINED

COUNTY:

MADISON

TIP NO.:

VARIOUS

MILES:

N/A

ROUTE NO .:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

LOCATION:

VARIOUS

TYPE OF WORK: BRIDGE CREW UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A BRIDGE MAINTENANCE PROJECT.

BID BOND IS NOT REQUIRED.

Construction Resource Group, Inc.

NAME OF BIDDER

2281 Browns Creek Church Road Union, SC 29379



Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request

County:

Madison

Line					And Market and St. Section	
No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
1	SP	Bridge Preservation Crew	2000	HR	\$787.00	\$1,574,000.00
2	SP	Specialized Equipment, Mini Excavator (10,000 To 16,000 Lbs.)	600	HR	\$45.00	\$27,000.00
3	SP	Specialized Equipment, Small Excavator (16,001 To 26,000 Lbs.)	600	HR	\$65.00	\$39,000.00
4	SP	Specialized Equipment, Standard Excavator (26,001 To 40,000 Lbs.)	600	HR	\$75.00	\$45,000.00
5	SP	Specialized Equipment, Large Excavator (40,001 To 55,000 Lbs.)	600	HR	\$105.00	\$63,000.00
6	SP	Specialized Equipment, Skid Steer W/ Tracks	600	HR	\$45.00	\$27,000.00
7	SP	Specialized Equipment, 4x4 Rubber Tire Backhoe	600	HR	\$85.00	\$51,000.00
8	SP	Specialized Equipment, Trench Roller W/ Remote	600	HR	\$50.00	\$30,000.00
9	SP	Specialized Equipment, Dump Truck (18 Ton Min. Capacity)	600	HR	\$115.00	\$69,000.00
10	SP	Specialized Equipment, Hydra Platform	600	HR	\$190.00	\$114,000.00
11	SP	Specialized Equipment, Large Hydra Platform	600	HR	\$300.00	\$180,000.00
12	SP	Specialized Equipment, Manlift	600	HR	\$70.00	\$42,000.00
13	SP	Specialized Equipment, Large Manlift	600	HR	\$85.00	\$51,000.00
14	SP	Specialized Equipment, Portable Concrete Pump	200	HR	\$250.00	\$50,000.00
15	SP	Specialized Equipment, Concrete Pump Truck	150	HR	\$400.00	\$60,000.00
16	SP	Certified Welder	1000	HR	\$200.00	\$200,000.00
17	SP	Dewatering, 2" Pump	1000	HR	\$1.00	\$1,000.00
18	SP	Dewatering, 4" Pump	1000	HR	\$50.00	\$50,000.00
19	SP	Dewatering, 6" Pump	1000	HR	\$70.00	\$70,000.00
20	SP	Shoulder Closure	30	EA	\$2,500.00	\$75,000.00
21	SP	Ramp Closure	20	EA	\$2,000.00	\$40,000.00

Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request Madison

County:

TOTAL BID FOR PROJECT: \$3,210,000.00

No.	Sect SP	Multi-Lane Roadway, Lt or Pt L	Qty	Unit	Unit Price	Amount Bid
23	SP	Multi-Lane Roadway, Pt L. Cl.	40	EA	\$2,500.00	\$100,000.0
		(8 Hours or Less Mile or Less	40	EA	\$3,000.00	\$120,000.0
24	SP SP	Work Zone Traffic Control, Each Additional Hour Work Zone Traffic Control, Each	40	EA	\$300.00	\$120,000.00
26	SP	Work Zone Traffic Control Posset Traffic	20	EA	\$1,000.00	\$20,000.00
27		Control Flagger	20	EA	\$1,000.00	\$20,000.00
The State St		386.	2000	HR	\$40.00	\$80,000.00

Contractor: Construction Resource Gre	oup, Inc.
Address: 2281 Browns Creek Church	Road Union, SC 29379
mone	Federal ID: 27-1093754
Contractor License Number (If Available):_	
Authorized Agent: Caleb Blackwood Signature: Ms Hawn	Title: Estimator
	Date:3-5-2025

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2025 AT 2:00 PM

CONTRACT ID: D13POC.BM.18991

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TO BE DETERMINED

COUNTY:

MADISON

TIP NO.:

VARIOUS

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: BRIDGE CREW UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A BRIDGE MAINTENANCE PROJECT.

BID BOND IS NOT REQUIRED.

Rock Creek Grading LLC

NAME OF BIDDER

378 Riverwalk Dr, Burnsville, NC 28714

Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request Madison

County:

N 1	0.	Sect SP	Description		Oty	Unit	Unit Price	2 Milouili
$-\frac{1}{2}$			Bridge Preservation Crew	20	000	HR	600	Did
		SP	Specialized Equipment, Mini Excavator (10,000 To 16,000 Lbs.)		00	HR		1,200,000.
3		SP	Specialized Equipment, Small Excavator (16,001 To 26,000 Lbs.)	60	00 1	HR	95	57,000.00
4	- 5		Specialized Equipment, Standard Excavator (26,001 To 40,000 Lbs.)	60	0 I	łR	175	105,000.00
5	S	SP	(40,001 To 55,000 Lbs.)	60		IR	200	120,000.00
6	S	P ;	Specialized Equipment, Skid Steer W/	600			245	147,000.00
7	S	P S	Specialized Equipment, 4x4 Rubber Tire Backhoe		-	R	110	66,000.00
8	SI	S	specialized Equipment, Trench Roller W/	600	-		20	12,000.00
9	SF	S	pecialized Equipment Dump Trank (12)	000	-	R	40	24,000.00
10	SP		on Min. Capacity) pecialized Equipment, Hydra Platform	600	H	2	130	78,000.00
11	SP	S	pecialized Equipment Large II 1	600	H	}	550	330,000.00
12	SP	1.	ation	600	HR	2	980	
13	SP		pecialized Equipment, Manlift	600	HR		130	588,000.00 78,000.00
14	SP	Sp	ecialized Equipment, Large Manlift ecialized Equipment, Portable Concrete	600	HR		190	114,000.00
5				200	HR		80	
	SP	1 110		150	HR		370	16,000.00 55,500.00
6 7	SP		tified Welder	1000	HR		20	120,000.00
8	SP SP		vatering, 2" Pump	1000	HR		0	50,000.00
)	SP		vatering, 4" Pump	1000	HR	6		60,000.00
-	SP		alder Closure	1000	HR	70	0	70,0000.00
. 1	SP		p Closure	30	EA	1(000	30,000.00
			1	20	EA	11	100	22,000.00

Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

TOTAL BID FOR PROJECT: 3,671,500.00

Description:

Bridge Crew and Equipment Upon Request

County:

Madison

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
22	SP	Multi-Lane Roadway, Lt or Rt Ln Closure (8 Hours or Less, 1 Mile or Less)	40	EA	2200	88,000.00
23	SP	Multi-Lane Roadway, Rt Ln Closure Including Ramps And Loop (8 Hours or Less, 1 Mile or Less)	40	EA	2400	96,000.00
24	SP	Work Zone Traffic Control, Each Additional Hour	40	EA	350	14,000.00
25	SP	Work Zone Traffic Control, Each Additional Mile	20	EA	250	10,000.00
26	SP	Work Zone Traffic Control, Reset Traffic Control	20	EA	850	17,000.00
27	SP	Flagger	2000	HR	52	104,000.00

Contractor: Rock Creek Grading LLC	
Address: 378 Riverwalk DR, Burnsville M	NC 28714
Phone: 8282082072	Federal ID: 81-5048230
Contractor License Number (If Available):_	85251
Authorized Agent: Samuel Boone	Title: Owner
Signature: San Boxe	Date: 03/04/2025

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2025 AT 2:00 PM

CONTRACT ID: D13POC.BM.18991

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TO BE DETERMINED

COUNTY:

MADISON

TIP NO.:

VARIOUS

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: BRIDGE CREW UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A BRIDGE MAINTENANCE PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

639 Old US 52 South, Mount Avry, NC 27030

Contract Number: D13POC.BM.18991

WBS Element: VARIOUS

Description: Bridge Crew and Equipment Upon Request Madison County:

TO THE SE	10.	Sect	Description	Q	ty	Unit	Unit Price	Amount
		SP	Bridge Preservation Crew	20	00	HR	\$ 689.40	Bid
		SP	Specialized Equipment, Mini Excavator (10,000 To 16,000 Lbs.)	1 60	00	HR	\$96.39	1101010
3		SP	Specialized Equipment, Small Excavator (16,001 To 26,000 Lbs.)	60	0	HR	.5	
4	S	SP	Specialized Equipment, Standard Excavator (26,001 To 40,000 Lbs.)	60	0	HR	123,45	\$74,070,00
5	S	Р	Specialized Equipment, Large Excavator (40,001 To 55,000 Lbs.)			15,1533	150.51	\$ 90,304,0
6	S	P	Specialized Equipment, Skid Steer W/ Tracks	600	-	HR	177.57	\$ 106,542,00
7	S	P	Specialized Equipment 4v4 Publica Ti	600	+	HR	\$ 130.21	\$78,124.00
8	SI	0	Specialized Equipment Transh Ball, W.	600		HR	123,45	\$74,070,00
9	SF	,	Specialized Equipment Dump Track (19)	600		HR	\$33.83	\$ 20, 298.°
10	SP		con win. Capacity)	600		HR	\$ 781.49	\$168,894.00
11	-		Specialized Equipment, Hydra Platform	600		HR .	\$ 142.07	\$85,242,00
	SP	1	pecialized Equipment, Large Hydra latform	600		HR	\$642.68	
12	SP		pecialized Equipment, Manlift	600		HR !	\$	\$385,608.**
13	SP	S	pecialized Equipment, Large Manlift	600	I	HR	150.51	\$ 40,306.00
14	SP	•	pecialized Equipment, Portable Concrete	200	+		*\77.57	106,542 00
15	SP	Sr Tr	pecialized Equipment, Concrete Pump ruck	150	-		389.24	\$77,848.00
16	SP	Се	ertified Welder	1000	-		530.79	79,618,50
17	SP	De	ewatering, 2" Pump	1000			151.30	151,300,00
8	SP		watering, 4" Pump	1000	Н		Z3,00	\$ 23,000,00
9	SP		watering, 6" Pump	1000	H		46.00 92.00	\$46,000,00
0	SP		oulder Closure	30	EA	4 5,	96.96	42,000,000
1	SP	Ran	mp Closure	20	EA	1 5		20,908.80 49,325.20

Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request

County:

Madison

TOTAL BID FOR PROJECT:_

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
22	SP	Multi-Lane Roadway, Lt or Rt Ln Closure (8 Hours or Less, 1 Mile or Less)	40	EA	\$ 2,702.16	108,086.40
23	SP	Multi-Lane Roadway, Rt Ln Closure Including Ramps And Loop (8 Hours or Less, 1 Mile or Less)	40	EA	_	\$108,086,40
24	SP	Work Zone Traffic Control, Each Additional Hour	40			\$16,083.20
25	SP	Work Zone Traffic Control, Each Additional Mile	20	EA	\$ 1,286.73	4
26	SP	Work Zone Traffic Control, Reset Traffic Control	20	EA		
27	SP	Flagger	2000	HR	\$123.17	* 246,340,00

TOTAL BID FOR PROJECT:\$ 3,810,294,30
Contractor: Smith Rowe, LLC
Address: 639 Old US 52 South, Mount Airy, NC 27030
Phone: 336 - 784 - 8221 Federal ID: 27 - 3317950
Contractor License Number (If Available): 7((())
Authorized Agent: Pavid L. Rowe Title: Manager Signature: Date: 3/4/25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2025 AT 2:00 PM

CONTRACT ID: D13POC.BM.18991

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TO BE DETERMINED

COUNTY: MADISON

TIP NO.: VARIOUS

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS

TYPE OF WORK: BRIDGE CREW UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A BRIDGE MAINTENANCE PROJECT.

BID BOND IS NOT REQUIRED.

R.E. BURNS + Sons Lo. INC

NAME OF BIDDER

274 Commence BLUB. Statesville, NC 28625

Contract Number: D13POC.BM.18991

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request

County:

Madison

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
1	SP	Bridge Preservation Crew	2000	HR	\$740-	\$1,480,000
2	SP	Specialized Equipment, Mini Excavator (10,000 To 16,000 Lbs.)	600	HR	125	75,000-
3	SP	Specialized Equipment, Small Excavator (16,001 To 26,000 Lbs.)	600	HR	137-	82,200-
4	SP	Specialized Equipment, Standard Excavator (26,001 To 40,000 Lbs.)	600	HR	205-	123,000 -
5	SP	Specialized Equipment, Large Excavator (40,001 To 55,000 Lbs.)	600	HR	300-	180,000-
6	SP	Specialized Equipment, Skid Steer W/ Tracks	600	HR	118-	70,800-
7	SP	Specialized Equipment, 4x4 Rubber Tire Backhoe	600	HR	100-	60,000-
8	SP	Specialized Equipment, Trench Roller W/ Remote	600	HR	80-	48,000-
9	SP	Specialized Equipment, Dump Truck (18 Ton Min. Capacity)	600	HR	150-	90,000-
10	SP	Specialized Equipment, Hydra Platform	600	HR	190-	114,000-
11	SP	Specialized Equipment, Large Hydra Platform	600	HR	380-	228,000-
12	SP	Specialized Equipment, Manlift	600	HR	155-	93,000-
13	SP	Specialized Equipment, Large Manlift	600	HR	170-	102,000 -
14	SP	Specialized Equipment, Portable Concrete Pump	200	HR	300-	60,000-
15	SP	Specialized Equipment, Concrete Pump Truck	150	HR	450-	67,500-
16	SP	Certified Welder	1000	HR	150-	150,000-
17	SP	Dewatering, 2" Pump	1000	HR	27-	27,000-
18	SP	Dewatering, 4" Pump	1000	HR	50-	50,000-
19	SP	Dewatering, 6" Pump	1000	HR	43-	63,000
20	SP	Shoulder Closure	30	EA	735	63,000 - 22,050 - 70,000 -
21	SP	Ramp Closure	20	EA	3500-	70,000-

Contract Number: D13POC.BM.18991 WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request

County:

Madison

TOTAL BID FOR PROJECT:__

No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
22	SP	Multi-Lane Roadway, Lt or Rt Ln Closure (8 Hours or Less, 1 Mile or Less)	40	EA	4000-	Thirtis pully section store
23	SP	Multi-Lane Roadway, Rt Ln Closure Including Ramps And Loop (8 Hours or Less, 1 Mile or Less)	40	EA	4000-	160,000
24	SP	Work Zone Traffic Control, Each Additional Hour	40	EA		
25	SP	Work Zone Traffic Control Fach		LA	500-	20,000 -
		Additional Mile	20	EA	4000-	80,000 -
26	SP	Work Zone Traffic Control, Reset Traffic Control	20	EA		
27	SP	Flagger			3500-	70,000 -
			2000	HR	60-	120,000-

\$ 3,865,550-

Contractor: R.E. BURNS & Sons G. INC
Address: 274 Commence BLUD STATESULLE ALL 2812
Phone: 704-924-8686 Federal ID: 56-1881211
Contractor License Number (If Available): 34 261
Authorized Agent: Kevin Burns Title: Pers.
Signature: Date: 3-5-225

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2025 AT 2:00 PM

CONTRACT ID:

D13POC.BM.18991

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TO BE DETERMINED

COUNTY:

MADISON

TIP NO.:

VARIOUS

MILES:

N/A

ROUTE NO .:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: BRIDGE CREW UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A BRIDGE MAINTENANCE PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Contract Number: D13POC.BM.18991

WBS Element: VARIOUS

4 1- ×

Description: Bridge Crew and Equipment Upon Request

County: Madison

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
1	SP	Bridge Preservation Crew	2000	HR	\$385.00	\$770,000.00
2	SP	Specialized Equipment, Mini Excavator (10,000 To 16,000 Lbs.)	600	HR	\$215.00	\$129,000.00
3	SP	Specialized Equipment, Small Excavator (16,001 To 26,000 Lbs.)	600	HR	\$230.00	\$138,000.00
4	SP	Specialized Equipment, Standard Excavator (26,001 To 40,000 Lbs.)	600	HR	\$265.00	\$159,000.00
5	SP	Specialized Equipment, Large Excavator (40,001 To 55,000 Lbs.)	600	HR	\$335.00	\$201,000.00
6	SP	Specialized Equipment, Skid Steer W/ Tracks	600	HR	\$215.00	\$129,000.00
7	SP	Specialized Equipment, 4x4 Rubber Tire Backhoe	600	HR	\$215.00	\$129,000.00
8	SP	Specialized Equipment, Trench Roller W/ Remote	600	HR	\$205.00	\$123,000.00
9	SP	Specialized Equipment, Dump Truck (18 Ton Min. Capacity)	600	HR	\$205.00	\$123,000.00
10	SP	Specialized Equipment, Hydra Platform	600	HR	\$410.00	\$246,000.00
11	SP	Specialized Equipment, Large Hydra Platform	600	HR	\$620.00	\$372,000.00
12	SP	Specialized Equipment, Manlift	600	HR	\$260.00	\$156,000.00
13	SP	Specialized Equipment, Large Manlift	600	HR	\$330.00	\$198,000.00
14	SP	Specialized Equipment, Portable Concrete Pump	200	HR	\$525.00	\$105,000.00
15	SP	Specialized Equipment, Concrete Pump Truck	150	HR	\$525.00	\$78,750.00
16	SP	Certified Welder	1000	HR	\$165.00	\$165,000.00
17	SP	Dewatering, 2" Pump	1000	HR	\$185.00	\$185,000.00
18	SP	Dewatering, 4" Pump	1000	HR	\$195.00	\$195,000.00
19	SP	Dewatering, 6" Pump	1000	HR	\$205.00	\$205,000.00
20	SP	Shoulder Closure	30	EA	\$640.00	\$19,200.00
21	SP	Ramp Closure	20	EA	\$2,900.00	\$58,000.00

North Carolina Department of Transportation Bid Form Contract Number: D13POC.BM.18991

TOTAL BID FOR PROJECT: \$4,589,450.00

WBS Element:

VARIOUS

Description:

Bridge Crew and Equipment Upon Request Madison

County:

Line No.	Sect	Description	Otre	11.	Unit	
22	SP	Multi-Lane Roadway, Lt or Rt Ln Closure	Qty	Unit	Price	Amount Bid
23	SP	Multi-Lane Roadway De Less)	40	EA	\$3,200.00	\$128,000.0
24	SP	(8 Hours or Less, 1 Mile or Less) Work Zone Traffic Cort of Less)	40	EA	\$3,400.00	\$36,000.0
25	SP	Work Zone Traffic Cont. 1	40	EA	\$325.00	\$13,000.00
26	SP	Work Zone Traffic Control D	20	EA	\$625.00	\$12,500.00
27	_	Control Flagger	20	EA	\$800.00	\$16,000.00
			2000	HR	\$200.00	400,000.00

Contractor: IPC Paving, LLC dba IPC Structures, LLC
Address: 7800 Southland Blvd, Suite 109, Orlando, FL, 32809 Phone: 828-409-1803
Contractor License Number (If Available): 83948
Authorized Agent: Aaron Cressure
Signature: Title: <u>Division Manager</u>
Date: _3/5/25